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Copy and complete each problem below. Set your working out clearly as you have been shown.
Give the remainder as a whole number.

[1] 790 + 5 = [2] 874+ 5= [38] 902 + 3 =
[4] 823 +5 = [5] 851 + 4 = [6] 910 + 5 =
(7] 833 +7-= [8] 881 + 3 = [9] 942 + 3 =
[10] 616 + 9 = [11] 653 + 5 = [12] 752 + 4 =
[13] 512 + 4 = [14] 619 + 6 = [15] 651 + 6 =

[16] 549 + 5 = [17] 651 + 3 = [18] 709 + 4 =



ANSWERS
Division

Copy and complete each problem below. Set your working out clearly as you have been shown.
Give the remainder as a whole number.

[1] 790 + 5

[4] 823

[7]1 833

[10] 616

[13] 512

[16] 549

158 r0

164 r3

119 r0

68 r4

128 r0

109 r4

[2]

[5]

(8]

[11]

[14]

[17]

874

851

881

653

619

651

174

212

293

130

103

217

[3] 902 + 3
[6] 910 + 5
[9] 942 + 3
[12] 752 + 4
[15] 651 + 6
[18] 709 + 4

300

182

314

188

108

177



